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1 Solutions to some of the test problems

Problem 3

In [17]: # include <stdio.h>

int main(){
for(int i=1; i<=1000; i+=2)
{

if(i%9 == 0) // is dividable by 9
{

continue;
}
printf("%d ", i);

}
}
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Problem 4

In [ ]: double fun(double a, double b, double c)
{

double res = 0;
for(int i=1; i<=40; ++i)
{

res += a * exp(1.0/ (i + 1.0)) + 1.0/b;
}
return res;

}

Problem 5

In [ ]: double fun(int n)
{

double x0 = 2;
double res = 0;
for(int i=1; i<=n; ++i)
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{
double x = -0.5 * x0 * sqrt(fabs(x0));
x0 = x;
res += pow(-1, i+1) * 1.0 / x;

}
return exp(res);

}
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